Barn Owl Maths

Areas and perimeters

Farmer Joe has three fields—all different shapes

and sizes! Can you work out the perimeter and
Width = 42 metres area for each field?
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What is the perimeter of the field?

What is the area of the field?2

Height = 25 metres

Width = 64 metres

v

A

What is the perimeter of the field?

What is the area of the field?2

Height = 29 metres
ght =17 meftres I
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Width = 30 metres
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What is the perimeter of the field?

What is the area of the field?2

Height = 10 metres
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Width = 24 metres
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